C2 CHAPTER 6

RADIAN MEASURE AND ITS APPLICATIONS

RADIANS
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A radian is the angle subtended at the centre of a circle by an arc whose length equals the radius.

The circumference is 2π times this arc length
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[Note: if an angle is given as a multiple of π, it is assumed to be in radians and the radian symbol c is omitted.]
Example 1
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Example 2
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Ex 6A

ARC LENGTH
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[Note that θ must be in radians.]

Example 1

Find the length of an arc of a circle whose radius is 6.4 cm and whose angle is 0.7 rad

[image: image7.wmf]l

=

6

·

4

 

´

 

0

·

7

=

4

·

4

8

 

c

m

 

l

=

6

·

4

 

´

 

0

·

7

=

4

·

4

8

 

c

m

 


Example 2

A sector of a circle of radius 10 cm has perimeter 25 cm.  Find the angle of the sector in degrees.
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Ex 6B

AREA OF A SECTOR
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Example 1

Find the exact area of a sector of a circle of radius 8 cm subtending an angle of 40° at the centre.
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[Note: the “exact” area means leave your answer in terms of π]

AREA OF A SEGMENT OF A CIRCLE
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Example

Find the area of the minor segment of a circle whose radius is 6 cm and is enclosed by a chord subtending an angle of 100°
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Ex 6C

Mixed Ex 6D
� EMBED FXEquation_2_32  ���
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